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KSR L AfEx) [AB=0725I1FA=0F7-1ZB=0]
© WOFFRRAME 72 S\,

O (x—2)(x—3) =0 @ (x+3)(x—9) =0
x—2=0 F7i1¥ x—3=0 x+3=0 F/IT x—9=0
Lo T x=2, x=3 Lo T x=—3, x=9

@ (x—6)(x+8) =0 @ (x+4)(x+5) =0
x—6=0 Frl¥ x+8=0 x+4=0 F7~IX x+5=0
LoT x=6, x=—38 foT x=—4, x=—5

B x(x—4) =0 ® x(x+3)=0
x=0 F71¥ x—4=0 x=0 F7i1X x+3=0
LoT x=0, x=4 LHoT x=0, x=—3

1 2
@ (x—g)(x+§) =0 (x+4)(x—4) =0
1 2
x—EZO EJ e x+§:0 x+4=0 F~IF x—4=0
LT le,x:—g LoT x=—4, x=4
3 3
©® (x—3)%2=0 (x+5)%2=0
x—3=0 x+5=0
L->T x=3 FHoT x=—5
@ x(2x—1) =0 @ 3x(x+2)=0
x=0 F/7iZ 2x—1=0 3x=0 F7IL x+2=0
2x=1
1
L->T x=0, X:E K-oT x=0, x=—2
@ (2x—1)(3x+1) =0 (4x—1)4x+1) =0
2x—1=0 F71¥ 3x+1=0 4 x—1=0F~1T4x+1=0
2x=1 3x=—1 4 x=1 4 x=—1
3 4 4
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firxH1 [ FEEX x?+(a+b)x+ab=0]
© WOFEREMEEI2E 0,

D x*—4x—12 =0 @ x*—4x+3 =0
(x—6)(x+2) =0 (x—1)(x—3) =0
x—6=0 F7/mi¥ x+2=0 x—1=0 F71F x—3=0
Lo T x=6, x=—2 LoT x=1, x=3
® x?>—3x—18 =0 @ x2+2x—8 =0
(x—6)(x+3) =0 (x+4)(x—2) =0
x—6=0 FE7/mi¥ x+3=0 x+4=0 F7miF x—2=0
Lo T x=6, x=—3 Lo T x=—4, x=2
® x*—9x+20 =0 ® x°+5x—36 =0
(x—4)(x—5) =0 (x+9)(x—4) =0
x—4=0 F£iX x—5=0 x+9=0 FiZ x—4=0
Lo T x=4, x=5 Lo T x=—9, x=4
@ x*—12x+27 =0 x?—4x—32 =0
(x—3)(x—9) =0 (x+4)(x—8) =0
x—3=0 FHiX x—9=0 x+4=0 FiZ x—8=0
LFoT x=3, x=9 Lo T x=—4, x=8
@ x%*—x—42 =0 x?4+8x—48 =0
(x—7)(x+6) =0 (x+12) (x —4) =0
x—7=0 F72i¥ x+6=0 x+12=0 F721F x—4=0
Lo T x=7, x=—6 LoT x=—12, x=4
@ x*—7x+6 =0 ® x*—10—3x =0
x?—3x—10 =0
(x—6)(x—1) =0 (x —5)(x+2) =0
x—6=0 FHiE x—1=0 x—5=0 FkiZ x+2=0
Lo T x=6, x=1 Lo T x=5, x=—2
® —16+6x+x2=0 x?+18—11x =0
x?+6x—16 =0 x?—11x +18 =0
(x+8)(x—2) =0 (x—9)(x—2) =0
x+8=0 FHiX x—2=0 x—9=0 FiZ x—2=0

Lo T x=—8, x=2 LFoT x=9, x=2
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frxr2 [ FREA x?+2ax+ta?=0]
© WOIFTERXEMEE/E N,

D x*—2x+1 =0 @ x?+14x+49 =0
(x —1)2=0 (x+7)2=0
x—1=0 x+7=0
LoT x=1 o< x=—7
® x?—6x+9 =0 @ x*+10x+25 =0
(x —3)2=0 (x+5)2=0
x—3=0 x+5=0
LoT x=3 foT x=—5
® x?—12x+36 =0 ® x?2+22x+121 =0
(x—6)2=0 (x +11)2=0
x—6=0 x +11=0
£-oT x=6 LoT x=—11
@D x*—4x+4 =0 ® x?—18x+81 =0
(x —2)2=0 (x—9)%=0
x—2=0 x—9=0
LoT x=2 £oT x=9
@ x%+20x+100 =0 ® 16x°+8x+1 =0
(x +10)2 =0 (4x+1)2=0
x +10=0 4 x+1=0
LoT x=—10 Lo x =—
o) x2+gx+£:0 ®@ xz—x+1:0
3 9 4
e+ 1)z —o (x—1)2=
3 2
x+—=0 X%:o
® 9x*+12x+4 =0 @ 49x°—28x+4 =0
(3x+2)*=0 (7 x—2)2=0
3x+2=0 7x—2=0
3x=— 7T x=2

2
Lo T x:—g 2
3
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fif X7 3
© WMOGBAEMEIrI 0,
D x2—9 =0
(x+3)(x—3) =0
x+3=0 F7IE x—3=0
L-oT x=—3, x=3

©) xz—lzﬂ

(x +1)(x—1) =0

x+1=0 F7iE x—1=0
f-oT x=—1, x=1

® x?2—81 =0

(x +9)(x—9) =0
x+9=0 FHIX x—9=0
LFoT x=—9, x=9

@ 64— x*>=0
(8+x)(8—x) =0
8+x=0 FiZ 8—x=0
Lo T x=—8, x=38

©® x2+x =0
x(x+1) =0

x=0 F£771F x+1=0
F-oT x=0, x=—1

@ 16x2—1 =0
(4x+1)4x—1) =0
4x+1=0 F/7i¥ 4x—1=0

4 x=—1 4 x=1
L-oT X:*E, x:i
4 4

® 25x%2—4 =0
(5x+2)(5x—2) =0

5x+2=0 F7I¥ 5x—2=0
5x=—2

Lo <T x:—g,x:—
5

[ i x? _—a?=

. x?’+ax=0]

@ x?—4 =0

(x+2)(x—2) =0

x+2=0 F/IX
LoT x=—2,

x—2=0
x=2

@ x>—100 =0

(x +10) (x —10) =0

x +10=0 F7-1%
Lo T

x —10=0
x =—10, x =10

® x2—49 =0
(x+7)(x—7) =0

x+7=0 F7FE x—7=0
Lo T x=—7, x=7

® x*+6x =0
x(x+6) =0

x=0 F7F x+6=0
F>oT x=0, x=—6

W x2—5x =0
x(x—5) =0

x=0 F7& x—5=0
K£»>»T x=0, x=5

@ 9x%—1 =0
(3x+1)(3x—1) =0
Sx+1=0 F/H-IX 3x—1=0

3x=—1 3x=1
£oT x—*l, le
3 3
@ xzfi—zo
25
i x— 1y =0
5 5
x+Z=0 ik x—==0

LoT

x=—
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WAHNAT 2 RIFREA

© WOITEREMRE 2SI,
O 2x?+2x—4 =0

Wiz 2 ThoT x’+x—2 =0
(x+2)(x—1) =0
LoT x=-2, x=1

® —3x2+18x —27 =0
W% —3ThboT x2—6x+9 =0

(x—3)*=0
LoT x=23
® 1x2—9 =0
4

MAZ4 %207 C x2—386 =0
(x+6)(x—6) =0

roT x=—6, x=6

@D —2x*+24x—72 =0
Wilaz—2Thbo>T x>—12x+36 =0

(x —6)>=0
Lo T x=6
©) £x2—5 =0
5

W5 &#F T x%—25 =0
(x+5)(x—5) =0

ko T x=—5, x=5

@ 3x2+12x =63
3x%2+12x —63 =0

A3 ThboT x24+4x—21 =0
(x+7)(x—3) =0
Lo T x=—7, x=3

[ x° 8% 11032700, Wil%E X 2 OEEchs |

@ 4x?—28x+40 =0

WA 4 ThboT x2—7x+10 =0
(x—2)(x—5) =0
£oT x=2, x=5

@ 5x2+45x =0

ﬁiﬂ%f)f“bof X2—|—9X =0
x(x+9) =0
J:OT X:03 X:_9

® 3x2—24x+45 =0

Wil% 3 ThboT x2—8x+15 =0
(x—3)(x—5) =0
£oT x=3, x=5

4x%4+32x =0

ﬁiﬂ%z}“@bof X2—|—8X =0
x(x+8) =0
J:OT X:(), X:_S
x +9x =—38
—8HBHELT x2+9x+8 =0
(x+8)(x+1) =0
YoT x=—8, x=—1

@ 2x°+32 =16x
2x%?—16x+32 =0
Wil%z 2 Tho>T x?—8x+16 =0
(x —4)*=0
L£-oT x=4
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WANWAR 2R 2 [ EUEEEL, ax’+bx+c =0 DFICHEHT S ]
© WOFEREMEI2I WV,
DO (x—2)(x—3) =—7x+14
JEBH LTI L T

x +2x—8 =0

@ (x+2)(x+5) =6 x+30
(x+4)(x—2) =0

L CBELT x2+x—20 =0
(x+5)(x—4) =0
Lo T x=—4, x=2 Lo T x=—5, x=4
® (x—8)(x—2) =—18x @ (x+4)(x—2) =6x—8
EBELCBELT x2+8x+16 =0 EELTBELT x2—4x=0
(x+4)2=0 x(x—4) =0
E-oT x=—14 FZ-oT x=0, x=4
® (x—3)2=—4(2x—3)
BEELTEELT

x +2x—3 =0

® x°+ (x—6)2=—18x+72
(x+3)(x—1) =0

L CBELT2x2+6 x—36 =0

WA 2 ChboT x2+3x—18 =0
(x+6)(x—3) =0
foT x=—3, x=1 Lo T x=—6, x=3
@D (x+4)(x—3) =5x—7 ® (x—7)(x+1) =—6x+9
BELCBELT x2—4x—5 =0 EELTBELT x2—16 =0
(x+1)(x—5) =0 (x+4)(x—4) =0
Lo T x=—1, x=5 Lo T x=—4, x=4
© (x+2)(x—1) =5x—5 @ (x+3)(x+6) =2x2+38
EELCBELT x2—4x+3 =0 EELCBELT x2—9x—10 =0
(x—1)(x—3) =0 (x+1)(x—10 =0
koT x=1, x=3 LoT x=—1, x=10
@ (x+6)2=—3(x+6)

BELCBIELT x2+15x+54 =0

@ (x+2) + (x+5)2=5
(x+6) (x+9) =0

ERELCBELT 2x2+14x+24 =0

Wil 2 ChboT x2+7x+12 =0
(x+3)(x+4) =0
Lo T x=—6, x=—9 LoT x=—3, x=—4
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34 i HFH K4
SR OEZ L AEE 1T [ R ax?+ce¢=0]
WD FHERERE I,
x?—17 =0 @ x*—9 =0
x:=7 x2=9
x =+ 7 x=-+3
x?—36 =0 @ x?2—12 =0
x?=36 x?=12
x==+6 x:iZ\@
3x%—175 ® 2x2—2 =
3x%=175 2x2=29
x%=295 x?=1
x==*5 x==*1
9
4x?—-24 =0 2—- = =0
¥ * 16
4x2=24
9 3
=6 =+ /6 P=— =+
g x== 6 16 Ty
9x?—5 = 3x2—-30 =
9x%=5 3 x%=33
xzzg x=i§ x?=11 x—i\/ﬁ
2 l 2
6x°—9 =15 @ Ex —12 =0
6 x2=24 x?=24
x2=4
==+ x:+2\/§
xio 3o 5x2—9 =9
25
Xz:i xzz@
25 5
NG
L. V38 L. 3o




[l & [#5eR]
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© WOFTERAEMHE LRIV,

D (x—1D?*=2
x—1=+4/2
lei\/i
® (x—4)2=2
x—4:i\/§
x=4i\/§
® (x+3)*=10
x+3:i\/ﬁ
xszi\/E

@ (x—3)2=16

x—3==x4
x=3*%t4
£oT
@ (x—7)>=4

x=7, x=—1

x—7==x2
x=7+2
L-oT x=9, x=5
@ (x—1*—50 =0
(x —1)% =50
x —1=+5y2
x=1+5/2
® 2(x—5)=6
(x—5)*=3
x—5:i\/§
x:5i\/§

34
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#* K4

[ HEX (x+m)2=k]

® (x+1)>=3

x+1:i\/§
xzfli\/g
@ (x+5)2=6
x+5:i\/§
x=*5i\/g
® (x—2)*=7
x—2:i\/7
x=2i\/7
(x+2)* —36=0
(x+2)* =36
x+2=%6
x=—2*6
foT x=4, x=—38
(x+3)°—25 =0
(x+3)°=25
x+3==*x5
x=—3=x5
LoT x=2, x=—38
@ (x—2)*—45 =0
(x —2)° =45
x—2:i3\/g
x:2i3\/§
3(x+2)"=24
(x+2)°=38
x+2:i2\/z

x:*2i2\/§
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FHROEZ L oM 3 [ FEX x % +px+q =0]
© W& E,

©) x2+6xfl =0 ® x2+8xf7:O

x2+6x:1 x2+8x:7
x2+6x+9:1+9 x2+8x+16:7+16

(x+3)% =10 (x+4)% =23

x+3 =+410  x=-3+410  x+4 =+423 x=-4:423

@ x2—-10x+14=0 @ x’+4x—2=0
x%—10x =—14 x24ax =+2
x % 10x+25 =—14+25 x2+t4ax+4a =2+4
(x—5)°%=11 (x+2)%=6

x—5 :i\/ﬁ x:5i\/ﬁ x+2:i\/€ x:*Zi\/g

® x2*6xf8:0 ® x2*2x:
x2*6x:+8
x2*6x+9:8+9 x —2x+1 =6+1

(xf8)2:12 (x—1)" =7

X*SZi\/E x:8i2\/§ x—1 :iﬁ x:1i\/7

@) x2*4x:*1 x2*8x+7:0
x2*8x = —7
2 2
x —4x+4 =—1+4 x —8x+16 =—7+16
(x—2)2=3 (x—1)2=09

x—2 :i\/é x:2i\/§ x—4=%3

x=4+3 FoT x=7, x=1

© x?+12x =—20 2x2412x—4 =0
x 2 +12x+36 =—20+36 W% 2 ThoT x2+6x—2 =0
(x+6)% =16 x24+6x =2
x+6 =+4 x24+6x+9 =249 (x+3)% =11

x=—6+4 JFoT x=—2, x=—10 x+3=+4/11 x=—3+4/11
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3 4E FE FxF K4
_ 2__
x5 1 [ 2l hFsta x4 b x +o =0 DREOAK x = bivzz 4ac , b5

© WOGEREZ, RORXZE> THRE LIV,

D 2x%+7x+1 =0
a=2,b=7,c=1%KAT5HL.

® 3x2—5x+1 =0
a=3,b=—5,c=1%2AT5HL,

__—T#TP-4x2x1 _-7+449-8 _ 5%y(-5f -4x3x1 _5+25-12
4 4 6 6
e e L 5413
4 6

@ x* —7x+5 =0

® 2x%?—3x—1 =0
a=1,b=—7,c=5%f AT 5L,

a=2,b=—3,c=— 1% AT5L,
sziﬁﬁ§ xz?i&@?ﬁ
4 2
X:3i¢ﬁ XZ?i%E
4 2

® x* +3x+1 =0

® 3x2—3x—1 =0
a=1,b=3,c=1%2RAT5&.

a=3,b=—3,c=—1%RAT5L,
L _3+49+12 __—3%V9-4
6 2
X_sigﬁ X_-ﬁiJE

@ 5x>—7x+1 =0 ® 2x* —7x+2 =0
a=2,b=—7,c=2%ATHL,

a=5,b=—7,c=1%2AT5¢L,

X:7i\/49—20 X:7i\/49—16
10 4
XZ?iﬁﬁ XZ?i%ﬁ
10 4

W 5x24+5x—2 =0

© x2—-3x—7 =0
a=5,b=5,c=—2%fAT5L.

a=1,b=—3,c=—72RAT5 &,
L _3+49+28 __—5%25+40
2 10
L3437 __ 565
10

2
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firxto [ 2k HBERax?+bx+e =0DfOARK, x =

© WoOHTEAZ, ORXEME > TIHRE RSV,

D 2x%+4x+1 =0
a=2,b=4,c=1%AT5HL.

—4+4*—4x2x1 -4+416-8

4 a 4
_ —4+48
4
—4x2y2 -2\
4 2

® 4x*+6x+1 =0

—6++/36-16
8
—6++/20 _3+45

X —
8

o

® 3x2—6x+2 =0

_ 6++/36-24
6
:61%5' 3+.4/3

6 3

@ 5x*+2x—3 =0

_ —2++44+60
10

_ —2+./64  —2+8
10 10

© 2x?°=8x—23

L 8+/64-24

4
X:8iéﬁ' 44410

o

X
4 2

—b++/b?—4ac
2a

o ]

® 3x%2—2x—4 =0
a=3,b=—2,c=—4%KATHE

_2%4(-2f —4x3x(-4) _2+4+48

6 6
ZZiﬁi
6
_2x2J13 1413
6 3
@ x*+2x—6 =0
_—2x4+24
2
X:——Zi\/2_8 x = 1i\/7
2
® x* —8x—6 =0
X:8J_r\/64+24
2
zsifﬁ x =4 +4/22
x?—6x—4 =0
. _6%/36+16
2
+
X—G—Zﬁ 5 T3
W 5x%+2x—2 =0
X:—Zi\/4+40
10
X:—Zi\/ﬂ _ -13411
10 5




